ERELEBA—F)—DyTHvh—K=

SELERR
YERk:16.05.01
AH |&i5E%F)|IE|NOFvI17 Xt B =¥ | AB [£BEF)|IE[NOFvIZT Xt B =¥
48238 |sLE<A| 1| 1] 930 2R 0 2 FCRI|ER somnw 58158 |5L&<BA| 1/30] 930 OFC 0 - 0 KE |roxu B
(1) (BR) | 2| 2| 10:10] oFc O 0 smsuwy| BE roxu (8) (£H) | 2|31| 10:10|FCX3L 3 - 0 & |KE OFC
3| 3| 1050/ KEL 6 0 &M [5esn OFC 3[32| 1050 OFC 0 - 1 =& |&M roxx
4| 4| 11:30|FCcx3r 1 0 =R |x=t &M 4|33| 11:30|FCX&3L 11 - 0 ONFC |OFC EH
5/ 5/ 1210 2@ 0 0 OFC |roxz ER 5/34| 1210| 2@ 0 - 5 KXE=|roxu ONFC
6| 6| 1250 =& 1 1 KE+|oFc 2H]| |4 6 12:50 -
7| 7] 13:30|5asLwy O 1 ER |E¥E xat AL&HB| 1/35] 9:30|7asLey 0 - 10 KEL|oNFC ER
1 10:10 (B®) | 2|36] 10:10| E 7 - 0 ONFC [sassy samsy
2 10:50 3[37| 1050 2H 1 - 1 Joyiw|SE|ONFC
3 11:30 4|38 11:30| M 2 - 3 K& |EH Axst
4 12:10 5(39| 1210| EE 0 - 0 &M |BE XFT
5 6/40) 1250 B 2 - 1 iR@ &M ER
48248 | Jblh | 1] 8] 930 ER 1 0 EH [5009ONFC 5A28H [sL&E<BA| 1141] 930 XKEL - ONFC | & =&
(B) |@msrew| 2| 9] 10:10|7a5vsy 8 ONFC |EE E®R (+) (#8F) | 2|42| 10:10| BE - &M |x=+ ONFC
3 10:50 3|43| 1050| KE* - XE |=ER &
4{10| 11:30|5msLoy O 2 EH |ONFC ey 4| 44| 11:30| ONFC - 0] *E
5 12:10 5(45| 12:10| & - XK= |[&EM ONFC
6 12:50 5 6 12:50 -
KE+/| 1|11 o930 2H 3 0 &M |OFC roxx ALx<sB| 1/46| 9:30| OFC - 1BE |Fosir|somwy
(OFC) | 2|12| 10:10|FCEIL 2 1 E (20 & (FC&3r)| 2 10:10 -
3[13] 1050] oFc 1 0 &M |Foxu KB 3| 47| 10:50| £MH - #RE [5o000w | Foxn
4(14| 11:30| 2@ 1 0 = |&fin OFC 4 11:30 -
5\ 15| 12:10|FC&3L 2 0 oFc |X® 2H 5| 48| 12:10| 751y - iRE | 2H B
6/16] 1250 28 O 4 KEx|roxu OFC -
48308 | 4#A | 1[17] 930 oFc O 1 BRE |KE |sonw 6F48 |5LEHA| 1/49] 9:30] ONFC - =R |EE| £EH
() (&M | 2|18 10:10|7a5Lsy 1 3 XE |oFC BEE (1) (KE) | 2|50| 10:10| 2H - Eh |ONFC BE
3[19| 1050| BEg O 1 B o KB 3| 51| 10:50| ONFC - A= |EH BE
4/20| 11:30| ER 2 1 X= |8 &h 4|52| 11:30|FC& 3L - 18R | K= ONFC
5(21| 12:10|7asLyy 2 1 &M |EE K= 553| 12:10| Hf - XE |roxu 8
6|22| 1250] oFc 4 0 ONFC | & sorw 6|54| 12:50| 1REg - ONFC | &fs X&E
s | 1023 930 8@ O 2 K=x|onFc| EH 7[55| 13:30|FC&3L JasLyy| #BEI | ONFC
(KEx)| 2|24| 10:10] 2@ 11 - 0 ONFC |x&+|1RE () -
3| 25| 10:50|FC&3r 2 0 =% |£H onFc -
426| 11:30| oFc 0 1 KEx|roxx X
5(27| 1210 2@ 1 1 =¥ |OFC xm+ -
6|28| 12:50|Fcksr 0 0 XEX|=% ZEH -
7129] 1330 ER O 2 1BE |Foxu: XxEt

KEF—LEHOEREERL, FoLONSGABLGLERBER~ ATTETIRELABEREE 1 LG TN,




